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~ Answer the 'Questions from any one Option.

OPTION-A
. Paper : COM—GE- 5016
( Principles of Microeconomics)
OPTION-B .
Paper - COM~-GE- 5026

. ( Busineés Economics)
Full Marks : 80
Time : Three _‘hoﬁrs

The ﬁgure‘s in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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1..

OPTION-A .

(Principles of Microeconomics)

Pape'r : COM—GE— 5016

(A) Answer the following : (any Sfive)

| 1x5=5
TS ﬂm@ﬁa e i 5 (Rt Foi)

() What i is normal price ?
el T N R

(u) Define price d1scr1m1nat1ng'

'monopoly market. -

ot RS W‘WMI

(i) ‘What do'you mean by a k1nked
demand curve ?

| T SR G o & qme
(iv) What is* . the

firm ?

AFTHA TR 937 RS AR

@Wﬁaﬂ%ﬁﬂmm%? -

(v) Write down the

production function formuy]g.

%awmmmm|
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economic
_interpretation of j. downward

 slopping AR curve of a monopoly

short -run

’

e

" (vi) Define Engel curve.

(B)

e (FRF R A

(vii) Write one characteristic of perfectly
competitive market.

- syef afecaierE IwTT b ey vt
(viii) Whét is sunk cost ?
e R

(ix) What is the shape of average fixed
cost curve ?

w&awwmw

Answer the following as d1rected (any
five) - - 1x5=5

wmmﬁwm (Rzrear
2fi5o1)

(i) Me_trginal utility curve is always

(Fill in the blank)
aﬁw%ﬂmﬁﬁ WO __
: (e 9% 4 =)

(i) In perfect competition, the average.
revenue curve facing the individual
slopes downward. (True/ False)

m@fmmwﬁw@%
wmwﬁwﬁwl (O%/95%)

4 (Sem-5/CBCS) COM GE/G 3 Contd.




e T _
o | ©
(i) When m.arg'inal productivity 1 ‘ . -.(viii) The condition in which market
(MP) = average productivity (AP), | _ supply matches market demand is
then AP is __ , A called : '
- (maximum/minimum) | @I N S IS BIRA T @ -
QA 2R Besiirst (MP) = o1G ' 3 CPRT =
BRA! (AP), Cofxt AP =@l | " (@) equalization
: L (T ) el
(iv) The shape of g perfectly elastic = (b) normalization
demand curve is . , _ I ~ e
' (Fill in the blank) ' - A
ooy iR siftm o SRR ' .(c) equilibrium
— CCii- o/ N R | o
! (v) Give one example of cross elasticity ¢, (@ None of the_ above
| ‘ of demand. @9FT e W
' o Fﬁiﬁﬁ ol fafgimor oby Tz i ' (ix) Demand curve can be derived from.
izl ‘ , income consumption curve.
(v The indifference’ curve is convex R - (frue/False)
to the origin due to decreasing I BT (R SR SR S
marginal rate of substitution. " ' 3R AR - (/)
| . - (True/False) - | |
g R ey ﬁﬁ)@‘ﬁﬂﬁ‘q«mﬁgﬁw 2. Answer the following in brief : (within 40
(R T PG T = (%) &77) ~ words) (any five) ‘ 2x5=10
(vii) Increase in income shifts deména ’ weTs RIS 5 T i 2 (800 T I%W)
curve towards . (Right/Left) ‘ _(ﬁm l561) E
m i (= DA _ I HeA (a) Define opportunity cost.
= @r@me) | . s T e e
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(c)

@

(e

@
w

@)

What is income elasticity of demand ?

it i Rfegereel T R

What do you mean by ma_rg1nal rate of
subst1tut10n ?

Mention two important features of an
ohgopoly market

TSI IE « G gﬁ@@gﬁc{mw
9|

Write the two condltlons of equilibrium
that must be obtained by a firm to
achieve its equilibrium position.

ST SRE) FS SR @247 St ARSI
PR 751 5 79 BRI st Fvai

- What is producer’s surplus ?

el Wity Reo

Discuss Engel’s law. ‘

-'m@mmtwwi

Explain two .factors
demand curve.

SIRAE! FIaRS o iﬁ‘/mquu

Write two Properties of i Isoquants.

AT I ?1‘57‘@1*1@1 forn

causing shift in
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® 0§

Why is the average cost’ (AC) curve
U-shaped ?

C PR 9T W m U-wigfes =?

| 3. .’Answer any four from the followmg

5x4=20

Tﬁam«wﬁmmwﬁmwm

(@)

()

()

@
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Briefly explain how an individual firm
enjoys supemormal profit in the long
run under monopoly market.

GHHT TER @¥F Topel AfSPIE ML
TS (FECE A S w-’&cf P T
S R0 T

Write a .short note on elasticity of
demand. '

ﬁ%aww—msamm..

What is a budget line ? When and how
a budget line shifted from its original
line ? -

WM%?WWWWW
ARG T 2

Under what conditions, AR=MR in
perfect competition ?

%f%s‘e‘mwwcfaﬁmﬁﬁww
AR=MR =? -
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(e) Briefly explaln two exceptions to @
, law of demand.

iR i WWWWWWI

() Write a short note on income
consumption curve.

B ToiTel ([q2IR vl © aft 5y Gt |

(g) Show the relatlonshlp between AC and
- 'MC (average- Cost -and’marginal cost).

T8 T (AC) W ﬁﬁ%w (MC)= Wer®
T il 1 |

(h) Distinguish between acc
and economic cost.

ﬁﬂﬁmmwﬁ%wwmw

ounting cost

C"t‘?,[ﬁ?“
4. ‘Answer any four from the following :
10x4=40
R R s e s

(a) Discuss various determinants of .
demand.
oI, Rfew PITPTR SCE 351|

(b) Discuss the modern cost theory.
R Gihel R0 .

4(Sem-5/CBCS) COMGE/G g

@)

Explain the law of variable proportion
of production.

%wmqﬁ«ﬁnwon—ﬁﬁmmaw

Write three features of monopohstlc
competitive market. How are price and

* output determined under such market ?

Explain.

o aﬂfﬂaﬂ?ﬁﬁmﬂﬂ—wwf@ﬁzﬁrm

(e)

)

7l | (R TET© VT P TeATH Wﬁ&ﬁﬁ—

= TR A

Make a comparison between collusive
and non-collusive oligopoloy market.

e @R fofes @t TRETS ==

RfRers TaEr 12! FRACES! TS ATS G

ISR Il e 4t |

Explain the law of dlmlmshlng margmal
utility.

g RGeSl R 0 |

What do you mean by excess capacity ?
How and when does it arise in
monopohst1c competltlve market ? .
Explain. Do you think excess capacity
is benef1c1al to the society ? Give
reasons. ‘ 2+5+3=10

' | Contd.
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(H

0

:consu'mption curve (ICC).

 wfRe wwor 3frm B qer gTIR®

Beotfes 2, 0t 4 | W wrre! e A
TR 3 oft SR et wodfart

Define income  effect. Explain the -

derivation of Engel curve from income
2+8=10

S 2O 52 S Yslretnt_wam ofat g

e O (R SR = et 2|
(i)

What is price consumption curve ?
Explalp, the shape of price consumption
curve if both x and y are normal goods.

) - 2+8=10

R SHATSh! G 52 T x @R y el T

[ (O T BATO @R S o =
[ -

Expla'in.substitution effect wi .
2 : with
~ of diagramatic analysis, the help

ba RIS 2w e e <

| 4(Sem-5/CBCS) COMGE/G 10’

OPTION-B
(Business Economics)

Paper : COM-GE~ 5026

Answer any ten of the following questions :

1x10=10

(@)
(b)

(c;)

@

(e)

- 4 (Sem-5/CBCS) COM GE/G 11

Define business economics.

IR LRI el Tt

‘What is national income ?

TS win {2

ljeﬁne elasticity. of demand.

sif oo et fR | |

Mel‘-ltiOI"l‘ van exceﬁtibh of the law of
demand. '

iR R @B e T =1

The relationship ‘between input and

output is-called’_
: (Fill in the blank)

T TS TeAMAT A TR
I R = (T 3% 239 F)
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. (7 Show the shape of isoquant in case of’)
) - ~ . perfectly complementary factors.

}, | Tospef AR Bt CFIS TAGEAH (I
a S TR =, &

' (9) What is real cost of production?

Tesll e T e
(h) Define marginal cost.
A = el w1
() Short-run average variable cost curve
\ is shaped (Fill in the blank)
r mzﬁ 1T sifRrsTie TR ____ g

(ST 912439 )

| () Draw the total revenue curve of : a firm
‘ under perfect competition,

I e ”'E'FHSWWQWW
Kb @WWW@‘“ o

®) : What is meant by normal price ?
” R 7= {%1'@1 5 {Gﬂtj?

() Define ‘shut-
analysis.

wﬁmq— “?Maﬁ%wwml

down Point’ in market
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2.

n

(o).

)

(@

(r)

| (m) What is first-degree price discrimination ?

" oo NN T ROIT b e

What is duriping ?

wifie &2

Who gave the concept of ‘quasi-rent’ ‘P
STt AT L] (I SR ?
Who propounded the uncertainty |
bearing theory of profit.?

Ao SFFETS! T TID! @I tsnﬂzrm%cz

What is normal. proﬁt ?

W{ﬁﬁsmﬁ?t

Give an example of insurable risk. .

'%’lﬂmﬂlﬁsﬁﬁ"ﬁﬁ @Bt TrizRe ﬁ»m

Answer any five of the followmg questlons

2x5=10

(é) Mentioﬂ two reasons that give rise to

" the economic problems.

WWWWW@W‘TWWI‘
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'(b) State the reasons for the law of Q

demand.

: mﬁmﬁf‘«m«tﬂqu«n

(c) Write two reasons for leftward sh1ft in
' - the demand- curve.

IR Gt ST ZIeR Tt e Bt

(d) Define. a linear homogeneous .
: production function.

taﬁasw—%%wmwﬂ\wﬁml

(e) Define marginal rate of technical
substitution.

wﬁaﬁ’t S AR TR W'w it |
N What is implicit cost of production ?.
Terlme oS I foe '
{g) State two conditions of price discrimination.
v Restie=eT 75 5% %rm S
' (h) Mention two characteristics of
monopolistic competition,
ifEi AfSwh o 7B Wi B

() Distinguish between
personal
distribution and functional distribution..

a}%ﬁsﬁwcfm?mﬁﬁm%wmﬁq
CTsal |
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)

Write the difference between risk and
uncertainty.

Wmmmwmwmn

Answer}a’ny four of the following questions :

(b)

(c)

| (d)

5x4=20

' (a)

Discuss the importance of national
income in business economics.

T SRS WW@¢§W
sl

Explain the determinants of price
elasticity of demand.

| mm%ﬁWWWWI

What is isoquant ? Explain the
properties of an isoquant.

TG el e TG @mm'

acf*rin

What is economies of scale ? State three
reasons for the rise of internal
economies of scale ?

= Ta BedeR ool /e sreredi
freafie T (RN fofAt! iRt T |
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(¢) Explain the characteristics of perfectly

(9)

(h)

' competitive market.

“1f eferaironeT e tEpTR oo

Ex'pléin the basic conditions for

equilibrium of a firm mth the help of
a diagram.

QWWW%WWW

il

Dlstmgulsh between money- wage and
real wage.

;gmsmﬁ%sW&aar~mqﬁaama“sﬂﬂ$raﬁsanu
Profits are a dynamlc surplus. Explain.

EW53Q§H$§5ﬁ®§ﬁ1%§@I<W$Y$ﬂ]v.

Answer any four of the following questions :

© 10x4=40

©T il e bIfRbY e s fm g

(@)

Explain the various types of business
decisions. Mention the phases of
business -decision making process.

6+4=10

MWWWWWl
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- (b).

- (o)

(@

Discuss the law of variable proportlons

In which stage will the producer decide

to produce ? Explain. 7+3=10

 BeolTR ARSI Seite R @A -

9| Teolvws (et ALTS BeARRISICE
Test SR Prarg a2 3 74|

Explain increasing and decreasing
returns to scale. Dlstlngulsh between
economies and diseconomies of scale.

' 8+2=10

Al FILA S PP 2wl 3071 3= |
T Tl et ool Wi sfiefiom

sy (T4

State the importance of demand

* forecasting for a business firm. What

are the methods of demand forecasting ?
Explain any two methods. 2+2+6=10

R AP 9 AR viftwR oo

Sled Tmd = | v o fferR ﬂaﬁlﬂ§§

| R Rl 07 TS 3o =)

(e)

Distinguish between short run and long
run. Why is the long-run average cost
curve U-shaped ? Why is the long-run
average cost curve called planning

curve ?
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0 . , o () Explain the mafginal : produ'ct.ivity
| . _ P ” - of wages. State its limitations.
- P e RPITS e iy o | et _, theory 8 6+4=10
. (f) Ex.pl'fun how the short-run equilibrium .(]') .Discuss the innovation theory of profit. -
price and output are determined under . _ ‘ © Mention its limitations. . 6+4=10 .
perfectly' compeﬁﬁve market. . _ _' | ST TONG T ©GUo! SCELA Y | |R
A RO oS grern oy W | | TR TEd |
SR AN AR R et w1 2, <o ) | : B ~ -
M . X - :
(9) Ekplain how a monopolist attains ,
equilibrium price and output in the long PR
run. : '
AireTs Gl TP e T 71 o
- mﬁaﬂﬁmﬁwwmw&ﬁw
Eoif ,
(h) What is kinked demand curve Explain
~how 'i't helps in explaining price rigidity
under oligopoly market. o
2+8=10
(FIRPORS St 4t 2 7 Rspror o
R ! <t T 9w % Ry sray I, I
w ' . . . . . . N . - .
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